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The level of teaching which demands the use of

higher order thinking skills is :
e &1 WX W Seu @ife & faa @

weirT = W A $ /O
(a) Memory level teaching/&Jfd & f3rem
(b) Understanding level teaching/ary & fyreqoT
(c) Reflective level teaching/famsia R fImefun

(d) Creativity level teaching/Ta-TcHRdT TR I7eq0T
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The level of teaching which demands the use of
higher order thinking skills is :

fem & W A A B FH e BV

YA i W Al -

(2) Memory level teaching/Sfd & f3reqmy

(b) Understanding level teaching/ﬁﬂ T fe
\yz’)/ Reflective level teaching/famyie &t ¥

(d) Creativity level teaching/TaTeHahaT &R farequr
NTA UGC NET/JRF June 2021(05-01-2022 Shift-I)

Ans. (c) : forem & ﬁw%wf@m I A §
HISTeT FGNT i AT Hr 21 39 oo W o fwyor gfshan
9 7 deid! W@l @ 99 deh [VeT &1 3299 qUf A1 @ S
sgfa fowrs g0 fean man gew a1 e foendf @ gofa:
qqg | 37 |




Match List-1 with List-11 :

geit-1 & | gei-11 & faer sife—
List-1/g=h-1 List-11/Z=-11
Model of Teaching/ Developer/
3TEATAA T HISHA fawras
(a) Positive Interdepe- (I) Fannie Shaftel/
ndence/
HHRIeHS STafasa G Tee
(b) Structured inquiry/ (II) David Johnson/
Rfaa ST efae Stama

(c) Role playing/ (IIT) Donal Oliver and

James Shaver/

qfiehr fafe eFa  AffereR 3R
S AT
(d) Jurisprudential (IV) Robert Slavin/
inquiry/
faferemeda = qae Tfaq

Choose the correct answer from the options
given below : o
Hrer foar T faweat @ @ WE I & 99T
it —

A B C D
(a) I11 I AY I
(b) 11 v I 111

() [V [ [11 [l
(d) l [11 [l [V
NTA UGC NET/JRF June 2021(05-01-2022 Shift-1I)
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Match List-1 with List-11 :
geit-1 & |y ei-11 &1 faer sfs—

List-1/g=i-1 List-11/g=-11
Model of Teaching/ Developer/
ITEATAT T HigeA fawas
(a) Positive Interdepe- (I) Fannie Shaftel/
ndence/
HHAIHS G e
(b) Structured inqufry/ (N) David Johnson/
gifad s efae Saga
(c) Role playin (I1T) Donal Olhiver and
James Shaver/
gftre fafe eFa  3ifeeR 3R
S T
(d) Jurisprudentia (IV) Robert Slavin/
inquiry/

Sird qad wfaq
Choose the correct answer from the options
given below :

Hrar foa T faweat @ ¥ 9 39T &1 uaT
wHitTa—

& B C D
(a) I I vV I
(b) I Y I I

() [V [ [11 [l
(d) l [1 A
NTA UGC NET/JRF June 2 (05—0]-2022“5@41)

Ans. (b):
A. GERHS [1. efae Saa
At
B. §ifad sitg V. Tae e

K AR

D. fafayreia st | 111 2Fa 3Aifera] 371 S 91al




Various kinds of thinking are enhanced by
particular models of teaching. Concept
formation is one such model which trains to
solve problems inductively Identify the correct
sequence of stages for concept formation.

uieal o fafay yar &
ﬁaﬂ‘rﬂqﬁg €| HeahoUdl_T=ET U THT
uied &, S ®Y ¥ AEET WU
T UITEIOT T §1 HehouAT fomior & o@Ol &
&l oW &t UgaT ahitau—

(A) Grouping items into categories with common
attributes of members/Aal & T & TAH
i i 4§

(B) Identifying the topic/problem/

e/ awen & ggaH
(C) Developing labels for categories/
£ fere oot faefaa s

(D) Enumerating  the data  relevant  to
topic/problem/fasa/amen ¥ T ke
TUTAT h{dl

Choose the correct answer from the o tlons

given below :/ Frer fo&r & faweat ®
I & TS AT A—
(a) (A),(B), (C)and (D) only/
&ad (A), (B), (C) 3R (D)
(b) (B), (C), (A) and (D) only/
#ad (B), (C), (A) 3R (D)
(¢) (B), (D), (A)and (C) only/
&dd (B), (D), (A) 3R (C)
(d) (D), (A), (C) and(B)only/
#ad (D), (A), (C) 3R (B)
NTA UGC NET/ R‘F June 20%1_(0_5-015‘2022 Shil't-ll)j

S




Various kinds of thinking are enhanced by Choose the correct answer from the o tlons
particular models of teaching. Concept given below :/ Frer fo&r & faweat ®

formation is one such model which trains to IHY & T F -

solve problems inductively Identify the correct (@ (A), (B), (C) and (D) only/

sequence of stages for concept formation. Aormt ~ s
ﬁ%r&! nieet o fafaer yer & (A), (B), (C) 3R (D)

(b) (B), (C), (A) and (D) only/
ﬁaﬁﬂqﬁa@ﬁ%lmmﬁw #ad (B), (C), (A) 3R (D)

Higd §, S ANHATES 0 9 THET QU
’ _ ) (B), (D), (A) and (C) only/
T WIYTRIT dar &1 HehouaT fAwior & oun & y%ﬁa(B)(D)(A)aﬂuC)

LR Hﬁﬂ'ﬁlﬂﬁﬁm— (d) (D), (A), (C) and (B) only/
(A) Grouping items into categories with common Had (D), (A), (C) 3R (B)
attributes ol members HHI4 NTA UGC NET/JRF June 2021(05-01-2022 Shift-11)
ib f memb & g &
i a1 S PEEE B |
pd ‘
(B) 1l,_:cc;l':_gtifying f%j? topic/probleM Ang/(c) : Gahear famfor & 97 sruifefad 2
/HET b qedH | 1) fewa/awen & vgem
(C) Develo g"gq'a%‘:;f“ﬁr Cﬁateg;’;?/ (if) forsa/ g & G sifhet & MU HET

(iii) W&l I FE= & FHE U B A H T
(D) Enumerating_the  data _ relevant  to . . o

topic/problem/fasa/amen ¥ T ke (iv) #forat & foe oae fasfEm e

T V4 37d: faded (c) 9 2|




Match List I with List 11

geit-1 st g=i-11 ¥ gafea s

List I/3=t-1 List II/3<T-11
(Model of Teaching) (Developer/faaat
(Forerur wiee) T A ATt
fagm)
A. Positive interdependence | 1. Robert Slavin
e TeHeh OiET Tae e
B. Structured inquiry 2. Fannie Shaftel
it geat T e e
C. Group investigation 3. Roger
ags Johnson
T AAG
D. Role playing 4. John Dewey
S St

Choose the correct answer from the options

given below/=r fau 7o faewmeal & 4 I

LR LLE

A B C D
(a) 3 1 4 2
(b) 1 4 2 3
(c) 4 2 3 1

(d) 2 3 1 =

NTA UGC NET/JRF June 20{1{04-01—2022 Shift-11)




Match List I with List 11

Ans, (a) :
-1 A1
forerur aige faerma & aren
fagm
HRIHS TR {3 TSR 94
Had gea e e
g YT S gral
e fded T e

gelt-1 st Gei-11 ¥ gafaa sifag:
List I/=it-1 List II/=t-11
(Model of Teaching) (Developerf%l’a-'ﬂ
(forarur uige) | & arelt
fagr)
A. Positive interdependence | 1. Robert Slavin
HehTTeHeh ey fasiar Fiae wna
B. Structured inquiry 2. Fannie Shaftel
o gest R iR rc
C. Group investigation 3. Roger
Hug 3!£E'UT ’ Johnson =
AN USSR
D. Role playing 4. John Dewey

Choose the correct answer from the options

given below/sier fau 7w faeweat ¥ & Wet S

gfu:
A B C D
(a) 3 1 4 2 \/
b1 4 2 3
)4 2 3 1

(d) 2 3 1 )
NTA UGC NET/JRF June 2021(04-01-2022 Shift-11)




The theory of Zone of Proximal Development
was proposed by:

v fem & fagm & fEee gw| -
PIGRICGRCTIRIDI
(a) Piagevﬁﬂﬁ (b) Freud/%1de

() Vygotskyﬂﬁ’ﬁw (d) Bloom/scfH
NTA UGC NET/JRF June 2021(04-01-2022 Shift-11)




The theory of Zone of Proximal Development
was proposed by:

wftrer faem & fagia & fewe ga
gfaartea fear Tam?
(a) Piagevﬁ'qﬁ (b) Freud/®1ae

\(eT Vygotsky/ﬁ@ﬁm (d) Bloom/sciH
NTA UGC NET/JRF June 2021(04-01-2022 Shift-11)

Ans.(c):ﬂﬁ@ﬁﬂ%ﬁ@iﬁﬁmﬂ?ﬁéﬂm
aEicE 4 yufed B o as 9 & @8 ad &
FH @ 4w W d, 30 A9 § &7 a1 G
() fadmg &7 (ZPD) T S 2|




Given below are two statements :
Hr=r E}f A ﬁ'l{ m %’:
Statement I : Knowledge, comprehension and
application levels in Bloom's taxonomy belong
to the higher level of cognitive learning.

HAF | : =W &l dftieht ( ) § FE,
argarer 3 W AT T &
oo W W et gl

Statement 11 Organization and
characterization belong to higher level of

affective outcomes

-/

FIT 1 ; HERAT I e W
TR & Ioul W W Heitd g

In the light of the above statements, choose the
most appropriate answer from the options
given below :

TR HIF & et #, Frer 2w v fammet

(a) Both Statement I and Statement II are
correct/Ha4 (I) 3 (I1) 3 T 2

(b) Both Statement I and Statement II are
incorrect /&4 (1) 3R (11) 31 Terd 2

(c) Statement I 1s correct but Statement II 1s
Incorrect
F (1) 8l 8, AT S99 (II) Tor 2

(d) Statement I 1s incorrect but Statement II 1s
correct

F9 () T 2, e B9 (1) T8 &

NTA UGC NET/JRF June 2024721-1T-2021 Shift-T
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Given below are two statements :
et 2 e fau o §:

Statement I : Knowledge, comprehension and
application levels in Bloom's taxonomy belong
to the higher level of cognitive learning.

HAT | : W St afifent (SFEAEHET) T FH,
argare 37 T GATATEH S 3T &
Fou W W data §1 S

Statement | Organization and

characterization belong to higher level
affective outcomes —

Ans. (d) : 59 &I _afifel (SHFMMENE JH, a1 3R

W GyEEs e o [ W) D) Gad g |
3: 3G fedl T HU IEA ¢
e 3R IFHAHU GETHS IR F I &G
Gafed 21 3 S 1] TF 2|

gufe fage (d) 9 2|

FAT 11 : Fawnr 3w e wares
qRUTET & oo WY ¥ Hatad gl

In the light of the above statements, choose the
most appropriate answer from the options
given below :

ST &I & AT W, e fau o faameat

W | Tad IUGh I H AT HIAC:

(a) Both Statement I and Statement 11 are
correct/&g (I) 3R (11) 2 Tel 2

(b) Both Statement I and Statement II are
incorrect /&4 (1) 3R (I1) 1 Ted 2

(c) Statement I i1s correct but Statement II is
Incorrect

g9 (1) T&r 2, dfehd &9 (1) Tela &
(¢) Statement I 1s incorrect but Statement II is

correct .
FI9 (1) Ted 8, dfa F949 (1) T
NTA UGC NET/JRF June 2021(21-11-2021 Shift-I)

12
N——




Who proposed theory of meaningful verbal
learning?

e ynfegas Itftnmm & fagr @1 wfeuares

fera= faman?

(a) Benjamin Bloom/aSH+ &H //_\——’
(b) Jerome Bruner/Siiq T

(c) Lawrence Kohlberg/@Rg &igerai

(d) David Ausubel/2fas Sﬁ'ﬁaﬂ
NTA UGC NET/JRF June 2021(30-11-2021 Shift-I)




Who proposed theory of meaningful verbal |[\ ¢ ) mis Wi v 3 frgld @1 S efe

learning?

i Whew SR % g a v || A 431 % e 3 A9 9 0 & ¢

el il 4 . o s e
(2) Benjamin Bloomy/sifi & ﬁ ﬁbﬂ m-@ e é
(b) Jerome Bruner/STM PR

(c) Lawrence Kohlberg/@g afgera
(d) David Ausubel 2 it /"~

NTA UGC NET/JRF June 2021(30-11-2021 Shift-I)




Given below are two statements

Statement | : The ability to form and use
symbols (words, gestures, signs, images, and so
on) are accomplished in the preoperational
period.

Statement 1l According to Piaget,
preoperational children do not have a tendency
to be egocentric.

In light of the above statements, choose the
most appropriate answer from the options
given below

Hior St wmaa few o E
HAT — | ; ehal ( ITe2, WIA-91TET, Goha, faiar
anfe) & fawior qem Su=mm & awar Ud-
mmﬁﬁmﬁaﬁ?ﬁﬁn

— 11 : frams & ER, ud-dfharars
au—ehﬁaﬁﬁ;m@ﬁaﬁuqﬁmﬁ@?ﬁ%l
IUGTh RN oh AT U (AAfead faseat o

/

(a) Both Statement I and Statement 11
correct/FI [ 3 11 24T 9&1 g1

(b) Both Statement | and Statement 1l
incorrect/ H9F 1 3T 11 a1 7TAd 2 |

(c) Statement I 1s correct but Statement II

arc

darc

1S

incorrect/&94 | §9 &, fohg 9= 11 Ted 2l
(d) Statement I 1s incorrect but Statement II 1s

correct/FI | 319 2, foq F97 11 58 21
NTA UGC NET/JRF June 2021(26-11-2021 Shift-
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Given below are two statements

Statement | : The ability to form and use
symbols (words, gestures, signs, images, and so
on) are accomplished in the preoperational
period.

Statement 1l According to Piaget,
preoperational children do not have a tendency
to be egocentric.

In light of the above statements, choose the
most appropriate answer from the options
given below

fa A wmarfeuu § : s s
AT — | : Hehal (ITeT, ma—uﬁlm Teha, o
anfe) & au‘uuMﬂaﬁmqﬁ
mmﬁm@?&g.
— 11 : TS & oq@R, d-dimareres
au—ehﬁaﬁﬁ;m@ﬁaﬁuqﬁmﬁ@?ﬁ%l
IUGTh RN oh AT U (AAfead faseat o

arthe

(a) Both Statement I and Statement Il are

correct/&HI= 1 3 11 ST Tl €1
(b) Both Statement | and Statement II are

ingorrect/ 99 [ 37 11 41 Ted 2 |
{ygmtement [ 1s correct but Statement II 1s
incorrect/FHI4 | ¥4 &, g F9 11 T4 21

(d) Statement I 1s incorrect but Statement II 1s
correct/FI | 319 2, foq F97 11 58 21

NTA UGC NET/JRF June 2021(26-11-2021 Shift-11)

Ans. (¢) : 'ﬁuﬁmmwﬁmﬁmmmm
& figid # g0 W 21 T Faw
U Bt 21 39 Ay & IR awd YdideE ) i fHa
aﬂﬁﬁﬁﬁﬁwﬂﬁ%wmﬁwmaﬁm
® 2| 39 Ia% § Hahdl & (W07 qgn 39dn & &
s gt @ qun sl # sl & 0 R
g S 21 3d: F99 | T a9 FI9 11 30A 21 e
ﬁfﬁq(c)mél -




Given below are two statements

Statement I: Reliability refers to whether a test
measures what it says it measures.

Statement II: Validity refers to whether a test
consistently vields the same or similar scores.
In lights of the above statements, choose the
most appropriate answer from the options
given below

Hrer Sr s feu o §:

wHaa-1: fagafiaar a1 doha 39 207 § o6 ==
Wiz gHaauT 39 =i ohf 919 &»iar & = dg
wHEar § oh g "rgar g

HAT-1: ALET okl Hohd =T 37X § fom == =g
TiteTuT EITE B9 W 9@l 97 HEy WhiT 2aT1 )
IUATH AT o e o, o fau o faeweat
o ¥ 9ad SUgh 3T &l 999 Shifeg -

(a) Both Statement I and Statement II are

correct/&H4 | 3R 11 =T Tl %I

(b) Both Statement I and Statement II are
incorrect/&Ha= 1 371X 11 241 7TaAd 2 |

(c) Statement 1 1s correct but Statement Il 1s
incorrect/®4= 1 W&t 2, foeg F9= 11 @ 21

(d) Statement I 1s incorrcet but Statement Il 1s
correct/HZF9 1 Tad &, fohg F94 11 T 21

NTA UGC NET/JRF June 2021(26-12-2021 Shift-I)




Given below are two statements

Statement I: Reliability refers to whether a test
measures what it says it measures.

Statement II: Validity refers to whether a test
consistently vields the same or similar scores.
In lights of the above statements, choose the
most appropriate answer from the options
given below

Hrer 2t wae fau o

HAF-1: Taga-fi=ar o1 doha 39 377 § T ==
&g qiHeur 39 =S &1 WO &iar § S 98
wHEar & Toh a8 wTgarT 2

HAT-1: TJUAT T Hohd 3T I § Toh oam =i
TiteTuT GEIUE ®U W FEl O1 HET WhiT 29T g
IUTTh HYUAT o Aot |, Hio fgu T fawear
H H 9ad IuGwh 3L & G- HiTA

(a) Both Statement I and Statement II are

conecﬁﬂqlaﬁtll?ﬁ:ﬁﬂﬁgl

(b) Both Statement I and Statement II are
incorrect/&9 1 31T 11 =1 TTed 2 |

(c) Statement | is correct but Statement II 1s
incorrect/&9 | Tl 2, fahq &= 11 e 21

(d) Statement I 1s incorrcet but Statement II 1s
correct/®a 1 Tad 2, foheg &= 11 w1 21

NTA UGC NET/JRF June 2021(26-12-2021 Shift-I)

Ans. (b) : A @ T o & G EEIE & Tad 39
R 2 [ 31 @5 W0Hu QU &9 A el 71 GHeY @R &

g 3 3YA &1 U 29 3N & (% 34 T TOuY 39 9 &
A & & W 98 Il ¢ (% 98 A 2|




I - T Secal T teory T v ooy
| Il : . Social learning theory ev Vygotsky
List VA | List IV 11 i st feg |
A. Classical conditioning | 1. Albert D, Constructivism/ [V.BF,  Skinner/
Wm HJheH Bandura/ 3eae AT ﬁm fiamt
gt .
B. Operant conditioning | II. Ivan w%;lov/ ﬂl:g:s;elt:: Corret angwer from the options
e | W Fi s e
\o~ (@) A-LB-1ILC-1D-IV
(b) A- II,B-II,C- V.D-
() A-1LB-IV,.C-LD-II
(d) A-IV.B-1C-IILD-1
NTAUGC NET/IRF June 2021(24-12-2021 Shift-




10.  Match List I with List 11

gelt 1@ welt 119 e st C. Social learning theory | IIL Lev Vygotsky/
List 1 | List IR 11 i ot fgla |,
A. Classical conditioning | . Albert D, Constructivism/ / [V.BF,  Skinner/
EQlItEID HJheH Bandura/ 3@ AT ﬁm‘ figm
B. Operant conditioning N Ivan m:fgw g-il:ggsgelt::'correct answer from the options
Ll R e foy o
R e T ' (@) A-1,B-111,C-1L,D- 1V
: (”@_F&WW w1 ) A-1ILB-11C-IV.D-
A FAGEE FFe - (1), 399 TaEa AAILB-IV.C-[D-I
B. g sgem - (IV). 0%, fiam (d) A-IVB-1,C-IILD-
C. Hrifor st fagia - (1), 3fead aigu NTAUGC NET/IRF June 2021(24-12-2021 Shift)
D, @R - (111, @9 aTicat




The objective of reflective level teaching is:

fermoft wax & foraror @t o= 39T &7 [ j

(a) To impart knowledge to the learners. \\
SferTaHAtsT & FH F& BT

(b) To develop insight into the learners to solve
problems /AU & THME & fou
SAferTdian § go fasfad S

(¢) To make students relate facts with the
principles./SH H qE & fagd & 99
gEag 3 & fau Tz

(d) To encourage students to apply knowledge in
similar and different situation /Sl &I I HI
gue 3R fim fafs § yam @ & fou
ieqTed |

NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)




A

T e (enamaa Y

(a) To impart knowledge fo the learners. ' ] ¢ N
- o ; y WA & WO & [ qqaad 1

[ @ JF Y T /
N m
\/(Ja) To develop insight into the learners to solve eI

problems /@73l & wAME & fav |y d am
Ffepmehdian § g3 fasfad Fe — |/ mﬁmaﬂ:ﬂ{ \ el 7

(c) To make students relate facts with the /|7 Wﬁlﬁﬁﬂiﬁﬂ? ﬁmaﬁﬁmﬂmm'
principles./&Hi H adl & fagE & wa T e . T
TG A & g Fe|

(d) To encourage students to apply knowledge in
similar and different situation./3F &1 JH I
A IR fim fufs & w@m a3 § foau
SicqTfed &

NTA UGC NET/JRF June 2021(04-12-2021 Shift-I)




What is the name of the mental process that
assists learners to reflect on their thinking by
internalizing, understanding, and recalling the

contact to be learned?/ 39 WIAHeh Wiehar &l
W T ¢ T AR, TFUTyiteran, rfenrfia
& WA arel favg-ae & yeEge & g
foremdf &t 37a Toraer fawyt W wgraar &t §7
(a) Meta cognition/3EEH

(b) Rubrics/&fsad

(c) Peer tutoring/FHeral 3rfareauT

(d) Debriefing/Sfa SR @1

NTA UGC NET/JRF June 2021(03-11-2021 Shift-11)
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What is the name of the mental process that
assists learners to reflect on their thinking by
Internalizing, understanding, and recalling the

contact to be learned?/ W WG Wicham &l

AW G § T v, Tgwyie, s

# T A fove-a & gee & g
B e e Tt 0 e et 7

a) Meta cognition 3T ) v

(b) Rubrics/&sad

(¢) Peer tutoring/HFRFAf 3rfYeT

(d) Debriefing/8fid T

NTA UGC NET/RF June 2021(03-11-2021 Shift-H1)

Ans, (a) : U 0 HEE S S,
FRTYer aﬁnﬁaaﬁaﬁmﬁmim@m%
0 fodt @ 3@ fif_famd W T & 2
CIPUR I ﬁ%aﬁ i aCI a1 91 21 TR

N\
\v/

A

mqﬁmﬁwﬁﬁm TR @ 9O Vel

drg gu s & sy fie & qan fid s @

fqefm & & forT s sugm 49 21
fomrs g0 AEIH & (GHEd B & fou 3 54 are
nfafafert srenfefaa

o BT T fvar T g & S & e & T
() DA I o 7, U9 H EEy F 4 g g
W 2 39 9f1 49 4 g &
/ FHiefad H Sl T B FTW & F|
wa: fadeq (A) 7 2|




13.

Arrange the phases for syntax of Group
Investigations Model in correct sequence :

TAYE 9T AiSe o aTad fa=ma & <un st
TET U ° SHaftad e

. Students formulate study task and organise for

study/STH- BTATT TETTT HTd dAT Hid & 37
ITETAT I AT A 2

. Students analyse progress an process/Si=-

BIEATT W 31T wiehar o1 faveraor &3 2

. Students encounter puzzling situation/ST-

BIATSN & TIHA WINT &H arar gifzerfa smwEr 8

. Independent and Group study

wWaa A vy rsmaa

. Students explore reactions to the situation/

BIA-BIATG URfterfa st wiatsharst &1 sr=awur
& Bl

Choose the correct answer frogn 'the ogtions

given below/ it feu 7o faweai 7 | ITT
T IT iTAU:

(a) A,C,B,E,D (b) B,A,D.E,C
(¢) C,E,A,D.B (d) D,E,B,A,C
NTA UGC NET/JRF June 2021(01-12-2021 Shift-1)




3. Arrange the phases for syntax of Group
Investigations Model in correct sequence :

AUE 90T AiSH o aTad fa=ard & =T ol
[ET A W A Sifa:

A. Students formulate study task and organise for
\/ studym-mmwmaﬂﬁgw
T H AT A B
\,{ Students analyse progress an process/STA-

BT wrfer 317 wiewan o faveraur @ g1
\}1 Students encounter puzzling situation/ST3-
DA & WA WIN A ATl GRS 8

D. Independent and Group study
WA 3T 9ug A

E. Students explore reactions to the situation/
BIA-BIATG URftafa &t wiatswmarsti @1 1=
w0 B

Choose the ceorrect answer from the options

given below/ el fau Tu faeweal & @ Wt Iw¢
T T HITAU:

(a) A,C,B,E,D (b) B,A,D,E,C

ns. (c) :
ﬁ-Tq‘ 3

(C) H-BAI & T W & areh offeafy s 2|

(E) @r-gmam uRfefd & sl @ s &w@ 2)

(A) BA-BAT a F TR @ § AR e
At Fd 2

(D) @ 3R TG e |

(B) H-gE i 3 sfran #1 favemw #w@ §)

¥4: faweg (c) 79 2

A S & a [ &

¢) C,E,A,D,B (d) D V.
NTA UGC NET/JRF June 2QZ1(01-12-2021 Shift-I)
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The concept "paradigm" is associated with :

“wuTaelt’’ (UTSTEH) @i Aauwun feREeR Wy

RS

(a) Karl Popper/&Tci qIR
(b) R.A. Fisher/3IR.U, fih¥R
(c) Imre Lakatﬂs/?qi AR
(d) T.S. Kuhn/21.U8. F& = |
NTA UGC NET/JRF June 2021(30-11-2021 Shift-I) )
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Ihe cunce,[,:t "paradigm" is associated with : Ans, (d) : EGd (ﬁ(qgu) 3 IR 'f[Q'{.‘{ ﬂ
v N T E P TR TL
(a) Karl Popper/@Tdl UIH (el 31 o (d) §eF ]

(b) R.A. Fisher/3IR.T, fthaR -
(¢) Imre Lakatos/3% @erq

W (d) T.S. Kuhn/21.78. F&
NTA UGC NET/JRF June 2021(30-11-2021 Shift-I)




Given below are two statements
frer gt s fau 1o §:

Statement I : As per Piaget's stages of cognitive
development, the child learns a language and
begins to wuse symbols to represent objects

during the pre-operational stage.

'3—?91=l'—g 'nl:mn?ga faemra =5 %'aﬁ"r o =AU o6
ITTAX {é—m =NOT & ST STeTeh 9THT
Hirgar 38T agstt aht gvtia ok fearg ufiant =nr
WHRAT ShTAT 3T ek a1 g1

Statement II : As per Piaget's stage of cognitive
development, the child learns through reflexes,
senses and movement-actions on the environment
during the formal operational stage.

Haa-11 : OATATHR faesra & faarst &6 =on
% AR fg=Tiies d@fsharaass =wur &6 A
aTeteh Uiaad, sf—==t a gatavyer ° wfa-fehar =6
Aremw 9 HRgar g1

In light of the above statements, choose the
correct answer from the options given below

, =rer g faemear
ﬁﬁuﬁmwmaﬁﬁq

(a) Both Statement I and Statement II are
true/sHa= 1 391X 11 ST I @

(b) Both Statement I and Statement II are
false/aher= 1 371X 11 241 379 2|

(c) Statement 1 is true but Statement II is
false/&9= 1 ¥ 2, fohg 99 11 379 2|

(d) Statement 1 1s fa]se but Statement II 1is
true/H9= 1 339 2, foog =99 11 9= 21

NTA UGC NET/JRF June 2021(30-11-2021 Shift-1)
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Given below are two statements

et g = fau o €

Statement I : As per Piaget's stages of cognitive
development, the child learns a language and
begins to use symbols to represent objects

during the pre-operational sta

HATA-1 : WATATH & & %‘aﬁr & =IO &
TTETT g:é HieraTees <IUT & ST ATeTeh WTET
digar & 3 aaget & g9iia & fou wedfient &r
WENT SHTAT AT &Y 24T B
Statement II : As per Piaget's stage of cognitive

development, the child learns through reflexes,
senses and movement-actions on the environment

durmg the formal operatnonal stage.
HAF-11 : AT faerd %ﬁ?ﬂﬁ & =it

=g aagmwaﬁumﬁaum =T & N
ATeTeh Widad, Wamﬁﬁ-m%
[reaw | dEar g

In light of the above statements, choose the
correct answer from the options given below

2} w, rer T

W W Tl I T a9 WU :

(a) Both Statement 1 and Statement II are
true/&He | 3R 11 141 99 2

(b) Both Statement 1 and Statement Il are
fplse/FHAT 1 3R 11 a1 319F 2|

Lyélatement I is true but Statement II 1is
false/&H9 1 9 2, foheg 99 11 3794 21

(d) Statement [ 1s false but Statement II 1is
true/&H9 1 319 2, foheg 99 11 57 21

NTA UGC NET/JRF June 2021(30-11-2021 Shift-1)

Ans. (¢) : Wﬁm%ﬁﬂlﬁaﬁm%m
W G WO % A e o @ s
TG Bl FW & oI Sefichi H AT HAT T H A
¢ e fawm & s & awil & e dad
yfafsrarene 9T & SN ares Sidad, 3fsal @ gataL
i - % W @ drEd 81 59 SER B9 1 9 8
391 9 11 379 2| 3a: fawed () T 2|
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Given below are two statements

Statement I: All components of working
memory are in place by the age of 4 in a child
as a development stage

Statement II: If a child does not continue to
pay attention to information, the activation
level weakens and finally drops so low that the
information cannot be reactivated and it
disappears altogether.

In light of the above statements, choose the
most appropriate answer from the options
given below.

rer 9t @ fou o #: .

&HAT - | : Taerra &t raven & ®U W 4 a9 @t
3U & deew ° fraviier wie & ot wea
T T W B &

FAA- 1l : guARl & ya a9t uE o
AR &1 &t 3T, af IS0 &1 SN §
3T ot ¥ ga=1 iR e € T g=a &6 o

\(&a

Ifte TE foen w1 waa et T quiew @

fereTer 21 e

TWIT HIA & e W, e faw T famwmet

T & W I & A R

(a) Both Statement I and Statement Il are correct
@A | 311 3 R

(b) Both Statement | and Statement II are
incorrect /&4 | 3 11 34 Terd @

(c) Statement I 15 correct but Statement II 1
incorrect /F4 | T ¢, fofeg F4 11 e ¢

(d) Statement I 1s incorrect but Statement II 1s
correct /F4 | Terd 4, o 11 W1 €

NTA UGC NET/JRF June 2021(28-11-2021 Shift-1I)
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. IAfa & forar o1 waar iR uE guiww @
Given below are two statements B AT E
Statement I: All components of working : N e R 5
memory are in place by the age of 4 in a child : & ok feq T
as a development stage LR ERMEARERE RIS L
Statement II: If a child does not continue to Both Statement I and Statement II are correct
pay attention to information, the activation /&9 1 3R 11 a4 T8t @
level weakens and finally drops so low that the (b) Both™ Statement | and Stalement Il are
information cannot be reactivated and it incorrect /&49 | 3R 11 24 TaAd 2
disappears altogether. (c) Statement 1 is correct but Statement II is
In light of the above statements, choose the incorrect /&9 | a1 2, feb=g &9 11 TTed 7
lgr:gz:l lfelj;g:;“prmte answer from the options (d) Statement I is incorrect but Sg%emenl Il is

correct /&4 | 7o &, faheg 11 2

et 2t e fa e E: NTA UGC NET/JRF June 2021(28-11-2021 Shift-I)

HAT - | : T & 3/aeen & ® U H 4 a9 @i
3w % arer ¥ Beawiter Wi % @it wem  |Ans. (a) : [9HE 31 9N § ®Y F 4 98 & W §

wﬁmm@%’&:_%ﬁﬁ amﬁﬁﬂwﬂagﬁ%aﬁmaﬁ-%
FoF- 11 : goATeR UF AE (o] A o I AQ Uk aTeidh S A &l ¢l I
TR A T <, A I W FAA § | s5m07 wn FHSR BT & AR 3D 7 24 AR S 8

i et # gaan i wran § R ge @ g H U IS A A w2 S a iy
g faea @ GﬂEIT%’ | 3 aﬁa:rle.ﬁtlla’m?m”f%l




ey |
[8. Cognitive domain for behavioural objectives
comprises which of these objectives? \’]
A. Evaluation B. Valuing s
C. Comprehension D, Precision
E. Knowledge

Choose the correct answer from the options
given below:

eyl & fou damETHes & " 39
A. TR B. e faeriver e
C. | a3t D. Tremefar

E. 7

Hrar fau 7o faweat @ 9 @ 39 99
(a) A,BandConly/aﬁ?-l A, B, C

(b) B,Cand Donly/ &ad B, C, D
(c) A,CandE only/ FHad A CE,
(d) C,Dand E only / %a& C, D.E

NTA UGC NET/JRF June 202N28-11-2021 Shift-1I) B




C g o |

[8. Cognitive domain for behavioural objectives
comprises which of these objectives?

A. Evaluation B. Valuing ¢l e o
(. Comprehension D, Precision afid) & Sy W S gdie fi X ¢ ) A
E. Knowledge T FAN: TR o S oo W o A 2|

Choose the correct answer from the options
given below:

eyl & fou damETHes & " 39
Iyl el |uTfaE femar Tar &:
A. goHieh B. e faeriver e
C.aust D. Trarear
E. F
Hrar fau 7o faweat @ 9 @ 39 99
(a) A, B and C only /T A, B, C
(b) B,Cand Donly/ &ad B, C, D
(c) A,CandE only/ FHad A CE,
(d) C,Dand E only / %a& C, D, E
NTA UGC NET/JRF June 2021(28-11-2021 Shift-1I)




Arrange these instructional events for
delivering the lesson to students in sequential
order frum the begmmn%u the end.

e 3= argvme
mﬁ@rmﬂm%mﬁm

A. lnformlgthe learner of the objectives

Ieval @ G 3T

B. Eliciting desired behaviour
qifod AagR YIE AT

C. Gaining attention/EaT4 MR HTAT
D. Presenting the content/frea a&g w&qa &
E. Providing Feedback/Ufegf® War= &A1

Choose the correct answer from_the options
given below/ et fau 7u faemeat & & wWat I

@1 TG I
(a) A,D,B,C,E (b) B,C,AE,D
(¢) C,A,D,B,E (d) D,C,B,AE

NTA UGC NET/JRF June 2021(25-11-2021 Shift-I)




Arrange these instructional events for Ans. (¢) : fenfefat &t g qgﬁ[ + ﬁ"rlq L 347@3'"31?5

delivering the lesson to students in sequential : :
order from the beginnin WIS 1 0§ A & Tl o e

to the end. \/
ﬁuﬁa‘rﬁmmﬁ% T ATNHSE | |i, S AIHG A ——— E

mﬁﬁmﬁm%mﬁm: nfélaﬂ‘éffaﬁaéwiﬁﬂjmﬁm J— \/

A. Informing the learner of the objectives _ ﬁ‘m ISGIETC] \, l

o 3’5 33‘:':‘: g & iv. aife SRR WG & [_ v
liciting es.r;n?r ehaviour _ v m T2 FE ‘ \ v

C. Gaining attention/SaT ST AT
D. Presenting the content/frea &% y&qd &
E. Providing Feedback/¥faaf¥ ya &t

Choose the correct answer from_the options
given below/ et fau 7w farareat & & Wet I

& oI ST :
\f}){k, DB.CE (b) B,C,AE,D
C,A,D,B,E (d) D,C,B,AE

NTA UGC NET/JRF June 2021(25-11-2021 Shift-1)




which of the following ave in the “Six(haose the correct answer from the options

'I‘hmkmg Hats System'", a form of parallel Il |
thinki '
R o 2t yeh (fo faf b BVel Delow!/ /et o v ot ° @ R T

faen) o, st wuiaw foas &1 s wU g, a[ma.ﬁﬁﬂ'q

frafafes @ @ -3 1 872

A BmwnHa:;/E%?m??)m ) ABandConymaA,Ba'ﬁ'{C
B. White Ha )
C. vm]emaﬁgﬁz‘nﬁ b) B, Cand D only/ ma,cam)
I;: Ef:cri%m 'c‘BDand:onyWB )

E \,\,) d) C, D and E only/@as C, D& E
NTA UGC NET JRFJune 202](24 |1- 2021 Shift-l)




Which of the followi in the "Si :
Thinking Hats Svstem”—a form of parallel  CH00S¢ the correct answer from the options

thinking? oiven below:/ i faq T fodl W 0 Wt 3

“gg foaa it yumelt'' (faem fifdT gew

foew) #, W Wi AT & @ w0 g, WWW;
frafafgs # @ @F-a0 ¥ §7?

A. Brown Hat/sfif (3137) Zidi (a) A B and C on ym A, B 3'ﬁ'{C
B. White Hat¥ad 21"

C. Violet Hay/smt 2rdt D [ /m Bcaﬁ-{)
ed Ha / ( ’ :
Ik BT (¢) B,Dand:oanB,)aﬁlD

E. Black Havare a1t v ' |
WC) o T 70 0 BLEG A 3 R4 3 d) C, D and E only/& C, D o

S i e 5 ) A GO M1 i)
Wi e % 0, v, 8 2 T




What is the name for the technique which uses @ 9
images that are often more evocative than words, f{'\‘

and more precise and potent in triggering a wide
range of associations and thinl{in%

.
IW AT ot o1 AW g foaw foar @ ganm
feraT STTaT § S T UTeal G 3TUer 3 wra
S & ¢ i fafay yan & aEedEt ol
@ & ot v v g ) |\

) Brainstorming/faaRa ¥ -
Ab) Mind-mapping/ATEg-AftT
1¢) Story boarding/=H FifeT
4d) Synectics/fAfazag

NTA UGC NET/JRF June 2021(24-11-2021 Shift-I)
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What is the name for the technique which uses

images that are often more evocative than words,
and more precise and potent in triggering a wide
range of associations and thi%

I qhIG o1 o T § foraw foiam & yam
e e & S U VIed @ anue A W
o & § A fafa yaw & weE aiv
T & TR U RS Tea 3 Vol 2 87

(a) Brainstormingfﬁ?waﬂ

((b) Mind-mapping/FTsg-A )

(c) Story boarding/’@ﬂ e

(d) Synectics/mﬁﬁﬁﬂ

NTA UGC NET/JRF June 2021(24-11-2021 Shift-I)

. () 722 S 70 3 1 70 7
T VR 3 o o W e A f o fofay
T & W A W9 @ W ° e ©F o

TR 3 2|




Identify the indirect teaching strategies from
the following list:/ TA=ifeRa =it 3Tl

forarur STt @t fafea S

(A) Gaining attention, informing the learner
of the objective and resenting the
stimulus matenallmﬂié?'ﬂ rferTaeRar
W IPA Sl HEeAr 3N weaea |t
T d hiAT

(B) Concept building through examples and
non-examples 3%'{‘ Eics BEIETUFT *
aremw | rauun- AT

(C) Explaining, exemplification and practice

, |IETEY0T gferares 31T areams

(D) Problem based presentation with pair-

share technique/g¥HA-
AT FHEAT- MR g fer
(E) Encouraging students to use references
from their own expenences
U Al | dawd
9 & feg !ﬁ?mf%?r AT
Choose the correct answer from_the options
given below:/ =r fau no farereat & & I

I TS hifou:

(a) (B
(c) (B
NTA L

(D)and (E) (b
(C)and (D) (d
GC NET/JRF June 2

(A
(€,
(2

B) and (C)
D) and (E)

|-2021 Shift-1)
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Identify the indirect_teaching strategies from
the following list:/ AucaaT
foraTur wTi-fiferat @ Fafea SR
(A) Gaining attention, informing the learner
of the objective and resenting the
stimulus mitenallmﬂ?&ﬂ 3-1fi:l'ﬁ'ﬂ7=ﬁl'f
i 39T Wl HEeET R dredes |
o
Concept building through examples and
; nun-ex[:imples = ] 3%'{‘ LIRS BEf'lJWﬁ *
aregw | sraunon-fawter
(C) Explaining, exemplification and practice
, TIETEuT gfaares 3T arvams
(D) Problem based presentation with pair-
\/ share technique/JHA-
AT FHEAT- MR g fer
( Encouraging students to use references
from their own expenences
AU Igwdl W Ha
éﬁ%mmm
Choose the correct answer from_the options
given below: / frer feu 7@ I
I TS hifou:

V) (B),D)and () (b) (A), (B)and (C)
©) (B),(Q)and (D) (d) (C), (D)and (E
NTA UGC NET/JRF June 2021(22-11-2021 Shift-1)

ns. (a) :)31eaer foeqor sEfaar srafafaa 2 -
(1) | 37 T-32RWI & 9y q 3rayron famfo
(1) Jo-GfHe Taich & T1Y Foe] e s&qfd
(1) foenfdai &1 39 319 sFwaEl @ Hed o & fo
Sieeifed e |




Which level of teaching is also designated as ,2:’/

‘exploratory understanding’?/37ferTa & fom
T @t GH-aHt sraarer off gt ST 82 /

(a) Memory level/Sfd &R
(b) Understanding level/3aay &

(c) Reflective level/famyii-famm &
(d) Autonomous development level
@ fas @@
NTA UGC NET/JRF June 2021(21-11-2021 Shift-11)




Which level of teaching is also designated as
‘exploratory understanding?/3ferTa & fom

T ot wwardt s oft g S 87
(a) Memory Ievel/lI[ﬁ L
(b) Understanding level/HadlY TR
\Lw'ﬁ{eﬂectwe level/famuif-faw &

(d) Autonomous development level
@ g T

NTAUGC NET/JRF June 2021(21-11-2021 Shift-11)

/

Ans. (¢) : qﬁwmﬁm @mmm%mﬁ

YW, 9RO YR & 9 § weEy fgd & o

fm\mﬁr?l

G W & - 39 YR & fw & A

T B TR A I @ amg A R o e

o & TR & W TR A AW & A

ferfid 2t 2|

ettt @1 Rverwr- famyl & W shean 2 2|

o 9w & s fofoy famgel &1 ameraom
W 9 3 W foR 2 @ oo fowfm @ 2

S &1 O e & e T a2
Iy ot &% 2|




Which theory of learning supports(reﬂective )

level of teaching?/ IERTH T - F{&
ToTeruT & WA T T AHYT AT 87 —~
(a) Theory of conditioning/3 a4 I f&gid
(b) Reinforcement theory /Saa fagid

(¢c) Need-reduction theory

- fgia
Cognitive field theory/S3HIE-47 firgid
NTA UGC NET/JRF June 2021(21-11-2021 Shift-I)




Given below are two statements 3/t ?f YL

frrm e :

Statement 1 : One of the basic principles of
progressive view of teaching is that education
should be life itself rather than a preparation
for living,

Fe (1) : fovgrur & yomedt ( yfrofier ) g
@ @ o fuge ¢ fe e dew
Jsitfaa @ qondt TE g g o I o
o e g

Statement II : According to reconstructionist
.ew of education the new social order must be

HAF (1) : foranm & gAfumrardt faem amn &
FOR T wwwe wawen fafyge ww @
PEICIPCRAC RO

In the light of the above statements, Choose the
correct answer from the options given below :

T HOA & AT §, T fw 0 faenedt
U ¥ WE I H TGT I

(a) Both Statement | and Statement 11 are true.
F (1) 3 (11) 2 99 &

(b) Both Statement I and Statement I are false.
HIF (1) AR (11) A1 379 &

(¢) Statement [ 1s true but Statement 11 1s false.
F99 (1) T 2, dlf 99 (1) 397 2

(d) Statement I 1s false but Statement 11 1s true.
F (1) 39 8, aft F74 (1) T3 &

NTA UGC NET/JRF June 2021(20-11-2021 Shift-IT)
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Given below are two statements :/<=f I &g

feo o & :

Statement I : One of the basic principles of
progressive view of teaching is that education
should be life itself rather than a preparation
for living.

wHaT (1) : raror & gt (warfayfier ) sfeeroT
& Uk goya fagra g e fPram svaw
arrsfifaest st dardt & 1fug =g 27U 3 1a o
gt sfra= gt srfgu)

Statement II : According to reconstructionist
ew of education the new social order must be
enuinely democratic’.

@A (1) : raw & gaf-amrardt fasm anmr &6
IFER AT W smaven Aty w9 &
Wm&a;z’rﬁaﬁq

In the light of the above statements, Choose the
correct answer from the optmns given below :

wUT h Hfr=r fau w1u faeedt
uﬂmmwaﬁﬁq

a) Both Statement I and Statement 11 are true.

FI9 (1) 3 (1) =1 99 &

(b) Both Statement I and Statement Il are false.
&g (1) 3 (1) S 39T &

(c¢) Statement I i1s true but Statement II 1s false.
F99 (1) 99 2, dfhd 94 (1) 379 2

(d) Statement I 1s false but Statement 11 1s true.
F99 (1) 3797 8, ofepd Ha= (1) A 2

NTA UGC NET/JRF June 2021(20-11-2021 Shift-II)

Ans (a) : S 1T 29 Fad ¢ 16 (Ol 31 awar
T8 & W TR F@ T g S faaen
WI%WM#W@%WIW%

39 319 ol e BT 9IfRT) 3 98 H9 T |

F99 11-gmrfsreh ferer 39 fagia o smufa
A f forenm & frgau ¥ gu & far =
gaar g1 fyen o gmfos & foraraaa &

el & st § oy W FEHA &1
FER T g Faw fAfga w9 & gmfss &
AMET | 31 HaF 11 909 2
THfau faEeq (a) 9 21




In which level of teaching, the main focus isj
laid on capturing and systematic presentation
of ideas and information?/ 3T&ATUT & fhT W

T ey 9N foem ot geer @t I w i
IHeh AN WA W BT 7

(a) Memory level/Sjfd &R

b) Understanding level/31aaY &

(
(¢) Reflective level/Mdd T
(

d) Autonomous development level
@ faehr &
NTA UGC NET/JRF June 2021(20-11-2021 Shift-I)
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. In which level of teaching, the main focus |sl

laid on capturing and systematic presentation
of ideas and information?/ 3TEATYT & TR T

H e TN foam 3 go @ g F A
Wk AN FEFATEHT T ETel &7
(_a ) Memory level/&fd & ) 74

(b) Understanding level/3a@1Y TR

(c) Reflective level/Mdd &R \/

(d) Autonomous development level
@A faeh &

NTA UGC NET/JRF June 2021(20-11-2021 Shift-I)

) o & ot e o o0 9 7
& W 4 e A 4 s g
fim 2t 81 % w5 4
v frr A




Identify the features of understanding level| ~D- Itisaimed at the conceptualization of ideas

and facts/ 9§
teachmg from theﬁﬁ%lowm IH'TEI '{HIT ﬁT&NT & dumrdfETor &% SrsT w A B
g FrefeTiaa i ”E“I al q ) . E. The purpose is to promote autonomy in the
A. The teacher takes the initiative in learning process through self-control/ 39ahT
organizing subject matter, in structuring Jeva W-fraaur g s wigear o
the various units and in cuntrullin% the @TIET ST 9T B
practices taken up by students/ Choose the correct answer from the options
ﬁwmmaﬁmﬁmawﬁﬁﬁiﬁm given below. -
TSI i TTEAT | 3T BT o 39ATH &l fear at forereat # & Wt 3w 9w
foifam Fv T UEE AT 3 {a)AandBnnly!aﬁFrAaﬂljRB

oo . ' . (b) B and D only/&ad B 3R D
B. It is basically dedicated in helping the student (¢) C and D only/3ae C 3R D

t(;- i‘eetti/l;%elatmnshlp and gpllcatlon as_tool (d) D and E only/Fad@ D 3R E
ol Iac HTENUT: UGC NTA NET JRF June 2020 (1 Oct.) Shift-11

UE % & UG BY U YA o Fgraar oo
ésfc‘-ﬁrmfﬁ?r@m%l

C. It is directed as problem raising and //J

problem solving in a collaborative
manner/ 9 AHET IAA & 3T g

framor § wgam & ®u ° S gar g




Identify the features of understanding level

teaching from the following./@Ter ¥ foT&ruT &
T frafafEa o 9 ﬁ:r%a Fitau
A. The teacher takes the initiative in

organizing subject matter, in structuring
the various units and in controlling the
practices takem up by students/ l%mﬁ?

ﬁwm araIft @ mﬁma & o fafis
TEHTSAT i WITAT | 31T BT & 19T &l
frefa & o uge &t B

\B/ It is basically dedicated in helping the student

to see the relatmnshlp and gpllcatlon as_tool
of fact./dE WRIRUE: BTAT

Ud A% & IUSTU WU ¥ FYART ¥ WAt 34
%mﬁﬁ'ﬁﬁf‘%‘l_‘

C. It is directed as problem raising and
problem solving in a collaborative
manner/ 9 AHET IAA & 3T g

framor § wgam & ®u ° S gar g

\D/ It is aimed at the conceptualization of ideas
and facts/ 98 qel &

WU eRIuT i BT AT g

E. The purpose is to promote autonomy in the
learning process through self-control/ SHaT

YT W-fadar grr st wfdkam W
T sl 9uedT g

Choose the correct answer from the options

iven below. .
R e e s e
(a) Aand B nnly!aa_cﬁfr A 3R B
(6) B and D only d B 3R D
%ad C 3R D
(d) Dand E Dnlyfa-z_dﬁ D 3R E
UGC NTA NET JRF June 2020 (1 Oct.) Shift-11

Aas(b) : T T 3 e it o ot -

. % R 3F % HaYl 3 367 U A & S0

0 35T T 2 ford e € ¢
2.u3ﬁa1ﬁqa'aw‘féamzﬂwaﬁlﬁmmé|




Reflective level teaching is different from
memory level teaching because the pattern of
communication that is involved in reflective

level teaching is basically &,\

farmofft wax freror wyfer wax Preror @ sre g
& Sdifer 3OW INUET TWEUT & Ugld god:
............... FAGIE
(a) Linear/‘@ﬁ'@cm
(b) Bottom-up/Ad ¥ FUT &t 31
(¢) Interactional/3fadfshareh
(d) Transactional/fsrafafaesr
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Reflective level teaching is different from
memory level teaching because the pattern of
communication that is involved in reflective
level teaching is basically

ferroff @ foveror wyfer T fovgror & aver g
¢ i go VITHeT AR & gl Yer:
............... gt g

(a) Linear/T&@m

(b) Bottnm-up/‘ﬂ% ¥ W F AN

(¢) Interactional/3ATfsharce
(d@;;‘;@m V4
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Which of the following describe understanding
level teaching?

Ereffer Thivrgwnit i & W7 O arer &
ITTATET TAT T FUTT Hial &2

(A) Systematic, step by step presentation to
promote retention of facts presented

aedl & TRUT WA & ufe H AEd HH
fera gemaftaa arafas swfa

(B) Giving a large number of positive and
negative example to expla:n concepts/
YRS #H ARAT & fau [fus d= |
HHIHE Ud RIS 3Ia@Ll T

(C) Insistir! on effective storage of information/

a3 & Y9El YUSRUT W F6 AT

(D) Helping to promote seeing of re]atlonshag
among facts/d=dl & g Hawl & TacAlhA

qAd A § @ gAT|
(E) Cntlcal analysis of facts and information/
a2l ud gE-rsl 1 qHeEeTs faves

Choose the correct answer from the options
given below:

(a) Aand B onlymﬁ A 3R B
(b) Band C only/aﬁ?'r B 3R C
(¢) Cand Donly/au_ciﬂ C3R D

(d) Band D only/%ﬁﬁ B 3R T
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Which of the following describe understanding
level teaching?

Ereifafarr thitrgemit & & o W forrer &
ITTATET TAT T FUTT Hial &2

(A) Systematic, step by step presentation to

promote retention of facts presenled/ﬂ'ﬁg
=l & TR WA & 9t & SEd &
Giving a large number of positive and

geaftyd dmifas s&fa
negative example to explain concepts/

YRS _H AT & & H
mmwm&ml

WY YUERUT 9T df 24T |

GERIEl
\{})(Helpmg to promote seeing of relatmnshag
among facts/d=dl & =g Hawl & Taclhd

qAd A § @ gAT|
(E) Cntlcal analysis of facts and informati

Al Td goA1sT & gHEs faveyo

Choose the correct answer from the option
given below:

(C) Insistir! on effective storage of mformatmn\

e fau 7o faeredt o & wdt W gfAu:

(a) Aand B on]y/ao_cﬁf A 3R B
(b) Band C only/aﬁﬁ B 3R C
(¢) Cand D only/av_ci?'r C 3 D
(d) Band D only/aﬁﬁ B 3R D
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& AU g TREIfE FaeR H
sl # @A & WIaAT H Fen 2

Ans. (d) : T &1 sfaey @), e & i
39 BT 2| T8 -l & HIHAHS AIr H F@rl
21 72 e 3 foandf & fod s9wt Iueey U 21
foreur & 39 TR § e I 3SR G HHFAT ST Hhdl
& fofaq s 21

T 9




What is the hallmark of reflective teaching?

femoft fyrarur =t fafyte ugena == 872

(a) Clear, organized and well structured content/

(b) Personalized, interactive and high level of %C\
cognitive interchange/dafti, 3a:fpaeE  __—7
IR Ied W GG HEH-SaH

(c) Systematic, planned and quick question-
answer session/Fafedd, gfaierd N 5
J99-3

(d) Logical, coherent and_ example based

presentations/difehd,  FHIA e
@ |
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What is the hallmark of reflective teaching? - Ans. (@) T, T A Gt v g frd

fermoft foreror @t ferfors wgem @ 7

Wlear, organized and well structured content/
T, e AR i faveas

(b) Personalized, interactive and high level of
cognitive interchange/aﬂﬁ%, CIREDICED
R 39 W GG HEH-FeH

(c) Systematic, planned and quick question-
answer session/aJaie, gﬁﬁfﬁﬂ ot g
JY4-3 H1

(d) Logical, coherent and. example based

presentations/fd,  ET Y
1 |
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fowr @ wgEm 21 faefe R @ seaie &
I W W ad & fau w5 9@ 21 9@ Fad
YIRS & GO SN GNg @ e aqW 3l T
IS SR 9 de, faR, sraumn & favers,
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Given below are two statements :

Hrer St wua faw Tw € -

Statement/&®&AT (I) : Tutorials group discussions
and question-answer sessions are dialogic and part of
direct teaching methods/3H ¥, e TR=l 3R
o3 T AR ¢ 3w fowpor fofyr & 3 &)
Statement/&he (II) : Project work, Laboratory

work, simulation and role playing are action based
and part of indirect teaching methods/aRATSHT
Fd, sanTenen #ME, Euw 3R qfte fadg
fopan smenfia & 3R st fargor fafy & of &)

In the light of the above statements, choose the

most appropriate answer from the options
given below :

IUGTh YA oh TeAleh W fefoaaa faemeal o

¥ waits 3ugh S I

(a) Both Statements I and Statements II are
correct/HIT 1 3 11 24T T&r &1

(b) Both Statement I and Statement II are

incorrect/&I 1 3R II AT T&l & 21

(c) Statement I is correct but Statement II is
incorrect/H4 | Tel 2, fhd H9= 11 Wet 7@l |

(d) Statement I is incorrect but Statement II is

correct/H 1 98t 78 2 ELfERE 1981 €1
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Given below are two statements :
Hrer St wua faw Tw € -
Statement/&®&AT (I) : Tutorials group discussions

and question-answer sessions are dialogic and part of
direct teaching methods/3FfR0T, TR TREdl 3R

Y9-3R G GRS & 3 g feyor fafy & a3 81

Statement/&he (II) : Project work, Laboratory
work, simulation and role playing are action based
and part of indirect teaching methods/aRATSHT
Fd, warmeen F@, sgEuw iR gfter fdg
fopan smenfia & 3R aToce fomo fafy & sf &

In the light of the above statements, choose the

most appropriate answer from the options
given below :

Iudh et o el § Frerfeiad feedt 3

¥ waits Sugh o I
(a) Both Statements I and Statements |
correct/&HIA 1 3 11 241 H&t 21

(b) Both Statement [ and Statement Il are

incorrect/&a= 1 31 11 21 T8t =l 2|

(c) Statement I 1s correct but Statement II is
incorrect/®49 | &l 2, fohd e 11 TE el g
(d) Statement I is incorrect but Statement II is

correct/H 1 98t 78 2 ELfERE 1981 €1
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The goal of teaching as compared to training isl
to provide the opportunity of:

TivTeroT @t gor-n o rarur @ wem fmferiiad

T AT Y HIAT 8

(a) Promotion of organized ideas as a result of
disciplined  drill/3enfad 37
uRumTEasy Haftyd faari &1 EE

(b) Sharing and caring leads to critical and
creative reflection/dEERl 3R Wad afga
sfaarr s geftenes ud gemvie faust &t 3R
3@ el

(c) Establishing beliefs and values which leads to
change in attitude/"=Iaid Td Hedi i TfUd
HTT o Afgha 9fitada #t AR o 1 o |

(d) Associating 1deas which are similar and

dissimilar/39 faa”i ¥ 9899 a9F1 ST TER
fir=gar wd afirear w@d @)
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The goal of teaching as compared to training is'
to provide the opportunity of:

yidterur @t gorn o frerwr @ @ fafafiaa

(a) Promotion of organized ideas as a result of
disciplined ~ drill/3Funfdd @™ &
uRumTasy Faftad faami &1 STEe

\(y( Sharing and caring leads to cntlcal and
creative reﬂecttonfmﬂ qagl |fed
SfaT St Tt T goneer T3
IYGEME

3% 378 A 8, 3 9 T A ¢

Waﬁ ¥ o 31 9% W o
T S S, 1 ST O i oy &

(c) Establlshmg beliefs and values which leads to
change in attitude/ST=aad Ud edi i w1fUd
& 9 Mgl giada & 3R o S T |

(d) Associating 1deas which are similar and

dissimilar/39 99 § 9899 a1 S &R
fir=rer wd 31T wad @
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During teaching, a teacher's statements that

encourage students to elaborate on an answer,
either bv their own or é at of others wlll is ';/V/

called

Ghﬁuﬁﬁaﬁmmgm%ﬁwﬁwaﬁ
R YA A G e w2,
HEA &

(a) Structuring/dTEI

(b) Instructional variety/ﬂﬂé’iﬂm fafaemr
(c) Engagement in the learning process/3ierTH

yfshar § dferar
(d) Probing/faem g=a1
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. During teaching, a teacher's statements that
encourage students to elaborate on an answer,

called

m’tﬁuﬂh‘u’rm‘tmmw}%ﬁﬂﬁwﬁ |

wferam glewied & & o0 et & €,
T -
(a) Structuring/HTET

(b) Instructional variety/aﬂéwm fafde
(c) Engagement in the learning process/HfEH

sfsean § wferea
(d) Probing/fawmy g1/
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either bv their own or éqﬂat of others wlll s

Ans, (0) ; Foom & &, o fog & 4 9 @
mmmmmmmm
0 & (o WA & ¢, S 6 6 g

37 % o e g a0 o v




Match the following :

(a) Mahatma Gandhi | (1) Naturalism

(b) Socrates (11) Idealism

(c) Rabindranath Tagore | (111) Basic Education
(Buniyadi Shiksha)

(d) Swami Vivekanand | (1v) Man Making
Education

i § are d

(a) T Tl (i)%ﬁaﬁ

(b) Yehrd (1) &Y

(c) T AT (111 ﬂﬁﬂlﬂ faren
(d)@rf fadare | (iv) 9 o arel faren

Code :/ Sh<:

(a) (b) (<)
(a) (1) (1v) (1)
(b) (1v) (11) (111)
(c) (111) (11) (1v)
(d) (1) (11) (1)
—

(d)
(1v)
(1)
(1)
(1v)




Match the following : Code :/ F=:

(a) Mahatma Gandhi | (1) Naturalism s B0 E?‘}} ) f?-u?}
(b) Socrates (11) Idealism EE} (::;:; E:; H:‘: m
(c) Rabindranath Tagore |(111) Basic Education \yzr{)(iii) Gi) (1) (iv)

(Buniyadi ShlkSha) LU O 4LUIO Faper-1
(d) Swami Vivekanand | (iv) Man Making Ans. (d) :

Education ( )nm!:?ﬂl

d

frferfiaa @t qufer aifa - A
(a) T T\ /()%ﬁam (c) Wiz 3
() TR —N ) A% ) e

(¢) =T (i) qﬁurﬁ fare

(d) @t faddre vy Tma a9 aret foe




The most appropriate meaning of learning is :
AferTy A 3Ugh, NAd g
(a) Personal adjustment /ZfehTd AT
(b) Modification of behaviour /ZFa@R I IRHTSH
(c) Enhancement of knowledge /3 &1 fawr
(d) Acquisition of skills /Tl F 3154

</ CG SET 2013, 2014 Paper-I
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The most appropriate meaning of Iearnmg IS : | Ans. (b Wﬂm T T 3 7 L;il T
e yelon o e { - kK mm
(a) Personal adjustment AT TS | 1R

b7 Modification of behaviour /7R 1 vt | VAN f fah ¥aR & a7 4 i &1 M a9
(¢) Enhancement of knowledge 73T a1 {9%K 7 T & fot T o é] - 2 T

(d) Acquisition of skills /FTSTeAl &1 3 .
CG SET 2013, 2014 Paper-] 7 3 ) T g & o 4
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Match List- I with List-1I and select the correct
answer from the codes given below :

gl g a e gu e gu e d &

Hal 30T T IaH hitaAy :
List-1 List-11
(a) | Pavlov (1) Insight BLD
e, | /| s
(b) | Ski 1)}—+ Operant Conditioning

i fsran s SAgE=A

(c) | Kohle?" | (iii Contiguity
HIFH

(d) | Guthn ' lassical conditioning
ﬂﬂ'ﬂ'}/ yrHH Ha

@ ® © @
@O 6@ @ @
(b) () (i) (i) (iv)
© () (i) Gi) (v) \ , ————
(d (1) () (m) (v)




Arrange the following steps of teaching pr_ocessl

in order :/fraror uftkam & f= uwdl &
FHATTAT Safterd it :
() Evaluation /AcdTehd

(ii) Relating the present knowledge, with
previous knowledgefﬂﬁ'ﬂﬁ A &l ﬁ

T | Hag T
(iii) Formulation of 0bjectives/3ﬁ9ﬁ CARELavI]

(iv) Presentation of teaching materials /ForeruT

AT AT JEeRT
(v) Reteaching/9-: foreroT
(@ (1) () (v) () (v)
(b) () (m) (1) (v) (V)
(¢) (i) () (v) (1) (V)
(d) () () (@v) (@) (v)
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Arrange the following steps of teaching pr_ocessl

in order /e yfwm & = W @
ST AT ity :
_kf~ Evaluation /qeaiie

(i) Relating the present knowledge, with
previous knowledge/@aw T @l

T | Hag HE
\(iy" Formulation of objectives/a'\@ﬁ CaRCiav
(iv)Presentation of teaching materials /RTerT
wreEft & e
(v) Reteaching/T: forgron

(@) (1) () (v) (m) (v)
(b) (1) () (1) (1v) (v)
() (m) () (iv) (1) (V)
(d) () () (v) () (v)

P o R T L W N
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